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A rigid body is formed by two identical uniform rods each of
mass m, length L, where one rod is attached from its center to
the other rod at a distance L/4 from its end as shown in the
figure. The rigid body can rotate freely about a pivot at the end
of one rod. The rigid body is released from position (I). Take
grayitational acceleration as (g).

\g%he moment of inertia of the rigid body about the pivot axis
can be written as | = fml?, where B is a constant. Find B.
(Hint: The moment of inertia of a uniform rod of mass m and

2
length L about an axis through its center of mass is lgn =

Also recall the parallel axis theorem)
b) Using conservation of mechanical energy, determine the
angular speed of the rigid body when it is in position 1l. (Note:
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If you did not solve part (a), you can still calculate part (b) by
taking the moment of inertia of the rigid body as I, = pmlL2.
¢) ls the angular acceleration of the rigid body during the motion
constant? Explain.

between position (i) and ()
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